
GTS30DG/GTS31DG/GTS32DG

MAGNUM RT STEPS

Tools Required:

Torque Specifications:
For Rocker Panel Mount Installations
M8 through M12 bolts and nuts are set to 15-20 ft lbs.

1

10MM SOCKET 16MM SOCKETRATCHET TORQUE
WRENCH

13MM SOCKET

Components: Hardware:

M10 Flat 
Washers
Qty 6

M10 Lock 
Washers
Qty 6

M10 Bolt Plates
Qty 6

M8 Flat 
Washers
Qty 34

M8 Lock
Washers
Qty 34

M10 Hex
Head Nuts
Qty 6

M10 Plastic 
Push Nuts
Qty 6

M8 Plastic
Push Nuts
Qty 12

M8 Triangle Bolt/
Nut Plates
Qty 6

M8 Hex
Head Nuts
Qty 12

M6 Hex
Head Nuts
Qty 24

M6 Flat
Washers
Qty 48

M6 Lock
Washers
Qty 24

M6 x 20MM Hex 
Head Bolts
Qty 12

M6 x 30MM Hex 
Head Bolts
Qty 12

Spacers
Qty 8

Rev 1

GTS30DG/GTS31DG/GTS32DG

Driver Side 
Step Bar 
Qty 1

Passenger 
Side Step Bar 
Qty 1

Mounting Brackets 
Qty 6

Support Brackets
Qty 6

Front Armor Plates
Qty 2

RTSPN175 
Bolt/Nut Plates
Qty 6

M8 x 30MM 
Hex Head Bolts
Qty 12

M8 x 25MM 
Hex Head Bolts
Qty 8

https://www.carid.com/raptor-series/


2

Rev 1

GTS30DG/GTS31DG/GTS32DG

1. Remove all contents from the 
package and check steps for any 
damage. Also, verify that all 
components and hardware listed 
above are included before you 
begin installation.  

2. Locate factory holes in six (6) 
places on the rocker panel. 

Note: Ram trucks built after June 
1st 2015 may be equipped with a 
factory reinforcement bracket 
attached to the inside of the 
rocker panel. This will need to be 
removed prior to installation. 

Remove all three factory 
mounting bolts and wire harness 
held in place with plastic 
retaining clips and remove 
bracket from vehicle. Mounting 
Brackets will serve as the 
reinforcement to the rocker 
panel.

3. Remove the tape covering the 
factory oblong hole in the Rocker 
Panel located above the two (2) 
hex holes. 

Determine if your truck has 
threaded inserts in the rocker 
panel. These holes are located 
just underneath of the oblong 
factory hole. 

4. If your truck is equipped with 
the threaded inserts, you will 
install the Single M10 Bolt Plate.

If your truck is NOT equipped 
with the threaded inserts, you will 
install the M8 Triangle Bolt/Nut 
Plate.

Install the M10 Plastic Push Nut 
onto the Single M10 Bolt Plate 
(4a) or the M8 Plastic Push Nut 
onto the M8 Triangle Bolt/Nut 
Plate (4b) to ensure it does not 
fall into the rocker panel during 
installation.  

Passenger Side Driver Side

2 2

Note: When installing the brackets and bars, all hardware must be left loose until all the items are attached. 

Driver S
ide

Passe
nger S

ide

4a 4b10M PLASTIC
PUSH NUT

SINGLE M10
BOLT PLATE

Threaded Insert No Insert Present

3

M8 TRIANGLE BOLT/NUT
PLATE

ROCKER
PANEL

OR

TAPE 8M PLASTIC
PUSH NUT



3 GTS30DG/GTS31DG/GTS32DG

Rev 1

5. Insert either Single M10 Bolt 
Plate or M8 Triangle Bolt/Nut 
Plate into the oblong factory hole 
(5a) with the threaded stud 
sticking out of the oblong factory 
hole (5b).

Note: If your threaded holes do 
not not sit flush with the outside 
of the rocker panel, you must use 
one (1) Flat Spacer Plate installed 
over the M10 Stud to ensure the 
bracket is level with the rocker 
panel.

Installing Mounting Brackets

6a. Attach the top mounting 
point of the Mounting Brackets to 
the vehicle using M8 or M10 
hardware depending on bolt plate 
used. You will use one (1) Flat 
Washer, one (1) Lock Washer and 
one (1) Hex Head Nut per bracket.

6b. Attach the lower mounting 
points of Mounting Brackets to 
the vehicle by using two (2) M8 
Hex Head Bolts, two (2) M8 Lock 
Washers and two (2) M8 Flat 
Washers per bracket.

5a

M10 SINGLE
BOLT PLATE

WITH PUSH NUT

OBLONG
FACTORY

HOLE
5b

5a 5bOBLONG
FACTORY

HOLE

6a
MOUNTING 
BRACKET M8 or M10

1x

1x

1x

M8

2x

2x

2x
6b

M10 Single Bolt Plate

M8 Triangle Bolt/Nut Plate

M8 TRIANGLE 
BOLT/NUT PLATE

NO INSERT 
PRESENT

THREADED
INSERT



Rev 1

4 GTS30DG/GTS31DG/GTS32DG

9a

9b

M6

2x

2x

4x

2x

M6

2x

2x

4x

2x

SUPPORT
BRACKET

MOUNTING
BRACKET

PRE-DRILLED
HOLES IN

PINCH-WELD

Installing Front/Center 
Support Braces

9. Line up Support Brackets with 
the holes in the Mounting 
Brackets as well as the pre-drilled 
holes in the pinch weld of the 
truck. 

Attach the Support Brackets to 
the pinch weld by using two (2) 
M6x30MM Hex Head Bolts, two 
(2) M6 Lock Washers, four (4) 
M6 Flat Washers and two (2) M6 
Hex Nuts.

9b. Attach Support Brackets to 
the Mounting Brackets using two 
(2) M6x20MM Hex Head Bolts, 
two (2) M6 Lock Washers, four 
(4) M6 Flat Washers and two (2) 
M6 Hex Head Nuts.

Note: If holes do not exist in 
pinch weld, you may drill these 
using a 1/4" drill bit. This is not 
required but installing Support 
Brackets will greatly reduce 
rocker panel flex.



Installing the Step Bar

10. Line up mounting points on
the step bar with the mounting
holes in each bracket.

Fasten the step bar to each 
bracket using one (1) RTSPN175 
Bolt/Nut Plate, one (1) Plastic 
Push Nut, one (1) M8 Hex Head 
Nut, two (2) M8 Lock Washers, 
two (2) M8 Flat Washers and one 
(1) M8 x 30MM Hex Head Bolt.

Adjust the bars front/back and 
up/down to desired placement. 
Once you have the step
positioned, tighten until the split 
lock washer is flat between the 
bolt head and flat washer. Do not 
over tighten.

When all hardware is in place, 
everything must be tightened. 
See page 1 for torque 
specifications. Repeat these 
steps for opposite side
installation.

OPTIONAL:
If you wish to install the Front 
Armor Plates, begin by
thoroughly cleaning the front 
side of the front step where the 
Front Armor Plate will attach. 

1. Remove adhesive protection
from the Front Armor Plate.

2. Carefully line up with the front
side of the front step. Be careful
not to let the side overhang as
they could peel o� over time.

Once lined up, firmly press the 
Front Armor Plate on the step to 
ensure complete adhesion. 

Repeat these steps for opposite 
side.

Driver S
ide

5

10
MOUNTING POINTS
ON INSIDE OF 
STEP BAR

RTSPN175 
BOLT/NUT PLATEMOUNTING

BRACKET

M8 FLAT
WASHER

M8 LOCK
WASHER

M8 PLASTIC 
PUSH NUT

M8 FLAT
WASHER

M8 LOCK
WASHER

M8 HEX
HEAD NUT

M8 x 30MM
HEX HEAD BOLT

1

2

Learn more about running boards on our website.

https://www.carid.com/running-boards.html

